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@ x>-1
@ x>1



5500 Qold] 20 & o]Ao]H 20 %
ittt 2 g o]4folH 20 ©H ©A|

34 Tstedet,

g1

Gt



A ok AFgoflA el 10000 Q1 S JNEJY M- A= 15% T2l
Sto 4 = Qlck. EfYl A olA] F-dsHH 2 H=of Aglo] vl
2713500 9 o2 dHT o, A H o|4f Afofol= A9 Qe
ML o] gst= Zlo] FEsh?

~

O 3 A oA @ 4@ oA ® 59 oA

@ 64 oA ® 748 oA

0.



S A50k9] ofg: AIZHETE 1A WA EAste] 1 A% o]
g A7 91 Aol 2 ok Aol A
AL A% 4k @] 2802 k1 AP o AT E A

2km ©] £¥0 2 gty Gy M A=Y 1580 AR b
ol A A7) Azl Bk ol el Glolof sH=71?

@ 1km @ 1.1km ® 1.2km

@ 1.3km ® 1.4km



5. a<2¥9 1, (a-2)x<4a-89 & 5tz



3|7} 7340to] ofd: AZbTh 2 X17F WA E2ksle] 1 AIZHS o]&
sho] W75 A7) 15 WA 770l Zhek. ok Aol A4 WK
AAPALE A% 3km 0] &0 A3, WA TGN A o G
A= A4 2km ] 420 YTk G}, H 7S Abd] 20 2ol
AATHA oF Faol A WA A7 o] AL B km o] o]
glofof shex] Fstolet

a = km ©] ]






